MODEL

FM7270-K

Questions?

GIVE US CALL: 1-888-980-5122
MON-FRI 8:30AM - 5:30PM (PT)

TOOLS REQUIRED

=N

Allen Wrench
(Included)

%

Screwdriver
(Not Included)

2 - People

ASSEMBLY RATING

EASY DIFFICULT

The Assembly Rating is a

5-point system showing the

level of effort needed to

assemble a specific product.
VERSION# 24-07-22

1711


BerenyceV
Rectangle

BerenyceV
Typewritten Text
FM7270-K

BerenyceV
Typewritten Text
VERSION# 24-07-22


2/11



3/ 11



4/ 11



ESTERN KING SIZE BED
FM7270-K-HBFB

PARTS

Ow  @w O

(RN

HEADBOARD HEADBOARD LEG - L HEADBOARD LEG - R FOOTBOARD
Dw @
/
o ©
o ©
FOOTBOARD SUPPORT FOOTBOARD LEG-L FOOTBOARD LEG -R SIDE RAIL

(9) 4pos 8pcs
/

BED SLAT SLAT SUPPORT

5/ 11



@ 8pcs 8pcs @ 8pcs @ 8pcs
(0)m (0) P S =)

BOLT M8 x 16MM BOLT M8 x 40MM LOCK WASHER M8 FLAT WASHER M8

@ 8pcs @ 8pes @ opos @ s
@)»»»»»»»»»»»»»»»»» ) 1?9

BOLT M6 x 35MM LOCK WASHER M6 FLAT WASHER M6 ALLEN KEY M5

Dw  Dw @

ALLEN KEY M4 CSK SCREW M4 x 32MM ADAPTOR

6/11



FM7270-K is packed in 2 cartons

Carton Designation Hardware
FM7270-K-HBFB King Size 1
Headboard

Headboard Leg-L | 1

Headboard Leg-R| 4

Footboard 1

Footboard Support| 2

Footboard Leg-L | 1

Footboard Leg-R| 1

Slat 4

Slat Support 8

FM7270-K-R E.King Size
Side Rails

7711


BerenyceV
Rectangle

BerenyceV
Typewritten Text
FM7270-K-HBFB

BerenyceV
Rectangle

BerenyceV
Typewritten Text
FM7270-K-R

BerenyceV
Rectangle

BerenyceV
Typewritten Text
King Size
Headboard


BerenyceV
Typewritten Text
Headboard Leg-L


BerenyceV
Typewritten Text
Headboard Leg-R


BerenyceV
Typewritten Text
Footboard

BerenyceV
Typewritten Text
Footboard Support


BerenyceV
Typewritten Text
Footboard Leg-L


BerenyceV
Typewritten Text
Footboard Leg-R


BerenyceV
Typewritten Text
Slat

BerenyceV
Typewritten Text
Slat Support



1

Part x 1pc

Part X 1pc

Part x 1pc
Hardware X 8pcs
Hardware X 8pcs
Hardware X 8pcs
Hardware X 1pc

ASSEMBLY INSTRUCTIONS

Align the headboard post (#2L,#3R) to the
headboard (#1). Use allen key (#H) to attach
headboard post (#2L,#3R) to the headboard
(#1) by using screw assembly of screw (#B)
with lock washer (#C) and flat washer (#D).

2

Part x 1pc

Part X 2pcs

Part X 1pc

Part x 1pc
Hardware X 8pcs
Hardware X 8pcs
Hardware x 8pcs
Hardwarex 1pc

Align footboard leg (#6L,7R) to the
footboard (#4) as shown in the diagram.
Use allen key (#1) to secure the footboard
support (#5) to the footboard by using
screw (#E) with lock washer (#F) and flat
washer (#G).

Q

8/11



BerenyceV
Text Box
Align the headboard post (#2L,#3R) to the headboard (#1). Use allen key (#H) to attach headboard post (#2L,#3R) to the headboard (#1) by using screw assembly of screw (#B) with lock washer (#C) and flat washer (#D).


BerenyceV
Text Box
Align footboard leg (#6L,7R) to the footboard (#4) as shown in the diagram. Use allen key (#I) to secure the footboard support (#5) to the footboard by using screw (#E) with lock washer (#F) and flat washer (#G).



ASSEMBLY INSTRUCTIONS

3-1 Attach bolts (#A) on the

headboard post (#2L,#3R) as well

STEP 3.1

3 onto the footboard panel (#4).

Partx1pc
Partx1pc | |
Partx1pc
Partx1pc
Partx2pcs

Hardware X 8pcs -
Hardware x 1pc \@

3-2 Hook screw plate
attached on the side
rail (#8) onto bolt (#A).

3-3 Use allen key to e
tighten the bolt (#A) and

secure the side rail (#8) to
the headboard post (#3)
and footboard (#4).

STEP 3.2

9
i

@
04

STEP 3.3

4
Part X 4pcs

Part X 8pcs

Attach the slat support
(#10) to the center of
the bed slat (#9).

9/11



BerenyceV
Oval

BerenyceV
Oval

BerenyceV
Typewritten Text
2

BerenyceV
Typewritten Text
3

BerenyceV
Text Box
3-1 Attach bolts (#A) on the headboard post (#2L,#3R) as well onto the footboard panel (#4).  


BerenyceV
Text Box
3-2 Hook screw plate attached on the side rail (#8) onto bolt (#A).


BerenyceV
Text Box
3-3 Use allen key to tighten the bolt (#A) and secure the side rail (#8) to the headboard post (#3) and footboard (#4). 


BerenyceV
Text Box
Attach the slat support (#10) to the center of the bed slat (#9).



ASSEMBLY INSTRUCTIONS

Extend the slats (#9) over the side rail (#8) and secure by
using screw (#J). Tighten with screwdriver (not included).

5 B x8
Part X 2pcs

Part X 4pcs
Hardware X 8pcs |

POWER OUTLET
]

Hardware #K) x 1pc N

Connect the attached
power connector on
the headboard to the
power adaptor (#K).

10/ 11



BerenyceV
Text Box
Extend the slats (#9) over the side rail (#8) and secure by using screw (#J). Tighten with screwdriver (not included).


BerenyceV
Text Box
Connect the attached power connector on the headboard to the power adaptor (#K).    



ASSEMBLY INSTRUCTIONS

Please peel to
Protection Film

ASSEMBLY
COMPLETED

Please ensure the
furniture rests on an even

and flat surface. If the
product wobbles or feels
loose, double-check all
bolts and/or screw are

properly tightened and
secured.

@ Keep this handy!

Please retain this instruction
manual and any order-related
information for future reference.

@ Lift, don't drag!
To avoid damage to product
please always LIFT the product
when transporting of adjusting
the placement.

This product is intended for RESIDENTIAL USE ONLY and not for commercial use.

11/ 11




	Sheets and Views
	90253 KB AI - FOA-(1)
	90253 KB AI - FOA-(2)
	90253 KB AI - FOA-(3)
	90253 KB AI - FOA-(4)
	90253 KB AI - FOA-(5)
	90253 KB AI - FOA-(6)
	90253 KB AI - FOA-(7)
	90253 KB AI - FOA-(8)
	90253 KB AI - FOA-(9)
	90253 KB AI - FOA-(10)
	90253 KB AI - FOA-90253 KB AI - FOA




